
3.2 Solving by Graphing

SWBAT solve a system of equations by graphing.

Assignments

HW19



 Looking at the graph, 
name some solutions of 
the equation 𝑦 = 2𝑥 − 1

 Name some solutions of 

the equation 𝑦 =
1

4
𝑥 + 6.

 Are there any solutions 
that are the same?

 Solutions of systems can 
be found by looking at 
where the graphs 
intersect



Find the solutions



Solve the system by 

graphing.
𝑦 = 3𝑥 − 2

𝑦 = −
1

3
𝑥 + 8

1.
𝑦 = −𝑥 + 1

𝑦 =
1

2
𝑥 + 4

2.
𝑦 = −

1

3
𝑥 − 3

𝑦 = −
5

3
𝑥 + 1

3.
𝑦 = 𝑥 + 1
𝑦 = 𝑥 − 3

Your turn! Complete # 1-10 on 

CW19.



3.3 Systems of Inequalities

SWBAT visually represent solutions to systems of inequalities.

Assignments:

HW19



Review…

 Steps to graphing an inequality

1. Determine slope and y-intercept and plot points

2. Dotted or solid?

3. Arrows up or down?

4. Shade side with arrows



 Solve the system of 

inequalities.

𝑦 > −
4

3
𝑥 + 1

𝑦 > −
1

3
𝑥 − 2

1.
𝑦 ≤

1

3
𝑥 + 3

𝑦 > −
1

3
𝑥 + 1

2.
𝑦 ≤ 2𝑥 − 3
𝑦 < 2𝑥 + 1

Your turn! Complete #11-20 on 

CW19.
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Algebra 1

CW19: Graphing Systems

Name___________________________________

Date________________  Period____
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Solve each system by graphing.

1)  y = -x - 3
y = -6x + 2

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5

2)  y = x + 1
y = -x + 3

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5

3)  y = -
7

3
x + 3

y = -
7

3
x + 4

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5

4)  y = -
1

3
x - 4

y = 
5

3
x + 2

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5
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5)  y = -
5

3
x + 2

y = -
1

3
x - 2

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5

6)  y = -
1

4
x + 1

y = 
1

2
x + 4

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5

7)  y = 6x + 2
y = x - 3

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5

8)  y = -
1

2
x + 1

y = 
1

2
x + 3

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5



©e l2h0X1T9K eKNuStoaU mSxoHfRtOwWaPr]eh cLhLNCX.z j zAhlYlZ [rticgnhatSsk krMetsKeCrgvue_dt.Z y JM\aud`eN HwwiAtsht [Ifn`fGiDniiltZe_ aAQlwgHe`bzrUaM S1e.

Worksheet by Kuta Software LLC

-3-

9)  y = 
1

2
x + 3

y = 4x - 4

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5

10)  y = 2x + 2

y = 
2

3
x - 2

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5

Sketch the solution to each system of inequalities.

11)  y > 
2

3
x + 3

y < 
2

3
x - 3

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5

12)  y < 
4

3
x - 1

y < 
1

3
x + 2

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5

13)  y > -
5

3
x + 3

y < 
1

3
x - 3

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5

14)  y £ -6x - 3
y £ -x + 2

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5
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15)  y ³ 
1

3
x + 3

y < -
5

3
x - 3

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5

16)  y £ 
1

3
x - 2

y < 
4

3
x + 1

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5

17)  y > 2x - 2
y £ 2

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5

18)  y > 
2

3
x - 1

y > 2x + 3

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5

19)  y ³ 2x - 3
y < -x + 3

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5

20)  y > -x - 3
y £ 2x + 3

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5
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Answers to CW19: Graphing Systems

1)  (1, -4) 2)  (1, 2) 3)  No solution 4)  (-3, -3)
5)  (3, -3) 6)  (-4, 2) 7)  (-1, -4) 8)  (-2, 2)
9)  (2, 4) 10)  (-3, -4) 11)  

x

y

-4 -2 2 4

-4

-2

2

4

12)  

x

y

-4 -2 2 4

-4

-2

2

4

13)  

x

y

-4 -2 2 4

-4

-2

2

4

14)  

x

y

-4 -2 2 4

-4

-2

2

4

15)  

x

y

-4 -2 2 4

-4

-2

2

4

16)  

x

y

-4 -2 2 4

-4

-2

2

4

17)  

x

y

-4 -2 2 4

-4

-2

2

4

18)  

x

y

-4 -2 2 4

-4

-2

2

4

19)  

x

y

-4 -2 2 4

-4

-2

2

4

20)  

x

y

-4 -2 2 4

-4

-2

2

4


